I
I

L

M5 F E

THS EEAMATRBIERENELEFR IMPERTE

Ui 75 B B

B B AAEER
HERRELR
BEEER

& B SEMER
BERLERERELR
7Bk EEHEEERY

BoMS RERHE
REERBRERE

HEZES 18-01-23-001



BEAREK SHBEEAM S ERDENE LTS IRMES

% b R - MR B % = B O\ & # =
EER{E 135, 030, 852
HITHET 135, 030, 852
HIIHET 135, 030, 852
BEAGE 132, 386, 880
BECLERHEBAR 2,569, 600
1 BEICLELRAR 44.00 58, 400 2,569, 600
I=
BERINEEIER (BELARIH) 58, 054, 480
2 BERUERMER [E#%) 2T7&% T 34.00 477, 040 16,219, 360
I=
3 BERERMER [E#]) 3~4T1EZET 20. 00 597, 360 11, 947, 200
I=
4 FEERIE BMER [E#]) 5~TIHEET 6. 00 721, 840 4,331,040
I=
b IEEBRE B IER [B£] 12T E 5.00 962, 480 4,812, 400
I=
6 BERUERER [#El] 2TEFET 26. 00 384, 160 9,988, 160
I=
7 BERUERMER [#1l]) 3~4TFEET 4.00 477, 040 1,908, 160
I=
8 BEIRNERMER (&) 5~TTEET 6. 00 578, 320 3,469, 920
I=
9 BERUERER [#pl] 128Ut 7.00 768, 320 5,378, 240
I=
BEBIEHIER (BEERETS) 7,328,000
10 FEEBHE HIERK [E#]) 3~4T1EZET 10. 00 632, 160 6,321, 600
I=




BERNRE

THSEEANMSERBENBLZERIHMES

I=

£ ji] B - BT B = i € #
11 BEARRNE HER [El] 3~4TFEET 2.00 503, 200 1, 006, 400
I=x
BERUERMER (BRISE - BREXER 31, 286, 960
BREIE)
12 BERULERER [Z#]) 21%]EF T 2.00 955, 600 1,911, 200
I=x
13 FBEARNE HERL [1E#] 3~4TFEFE T 10. 00 193, 920 11, 939, 200
I=x
14 FBEARNE HERL [E#]) 5~TIHEET 2.00 439, 680 2,879, 360
I=x
15 FBEARRE HERL [E#] 8~11TF]EE T 2.00 724,720 3, 449, 440
I=x
16 FEEARREHERL [#Z#] 12T/ tE 3.00 916, 320 5. 748, 960
I=x
17 BEARNE HER [#1]) 3~4TFEET 4.00 955, 600 3,822, 400
I=x
18 FBEARRE HERL [#E4l] 12T E 1.00 536, 400 1, 536, 400
I=x
BEASN (BEXARIH) 18, 411, 440
19 EHAR (R#£] 2T8FT 34.00 151, 840 5,162, 560
I=x
20 EEAND [1E#] 3~4TFEF T 20. 00 189,120 3,782, 400
I=x
21 EEAND [1E#] 5~TIFE T 6.00 232, 400 1, 394, 400
I=x
22 EEAN [#Z#] 12T/ tE 5.00 303, 680 1,518, 400
I=x
23 BEAR CEIEDIPAR: £ 3¢ 26.00 121,120 3,149,120
I=x
24 BEAR [#l]) 3~4THEET 4.00 151, 840 607, 360
I=x
25 BEAR () 5~TTHEET 6.00 182, 560 1, 095, 360




BEAREK SHBEEAM S ERDENE LTS IRMES

£ kg B - BT B % = i € # B E

26 EEAN [#Eu] 12T8uUE 7.00 243,120 1,701, 840
I=

BEAN (BEEREIS) 1,782, 880

21 BEEAAH [E#]) 3~4T1EZET 10. 00 153, 440 1,534, 400
I=

28 EEARN [#l]) 3~4TiEET 2.00 124, 240 248. 480
I=

)%%]UJ (BEIS - BRAEXBERSREIS 6, 730, 320

29 BEHAS ({R#] 2THFT 2.00 205, 440 410, 880
I=

30 BEEAA [E#]) 3~4T1EZET 10. 00 257, 840 2,578, 400
I=

31 BEAA [E#) 5~TIHEET 2.00 310, 240 620, 480
I=

32 BEAA [E#] 8~11TF]EET 2.00 370, 080 740, 160
I=

33 BEEAA [Z#] 12T L 3.00 410, 880 1,232, 640
I=

34 EEAN [#l]) 3~4THEET 4.00 205, 440 821. 760
I=

3B EEAN [#] 12T8uUE 1.00 326, 000 326, 000
I=

TEH 6, 048, 000

36 & 144.00 42,000 6, 048, 000
[=]

iE - |E 175, 200

37 W& - |BE EFE. PR, BT TEH 1.00 175, 200 175, 200
%

EERE 2,643,972




BEAREK SHBEEAM S ERDENE LTS IRMES

% i1 BRE - BIRTE Bif B B ® #® wm =

EHAMRE 1,261, 636

38 EHARE 1.00 1,261, 636 1,261, 636
=

MR 300, 000

39 EHRRERE 1.00 300, 000 300, 000
=

& 1,082, 336

40 Hr#E 1.00 1,082, 336 1,082, 336
=




WiEE SHSEEAMBARERENBLEFRIFEES

% g R - KSR Bifr B 2 B i & B W =
BRI 132, 386,880 + 2,643,972 135, 030, 852
EEAGE 132, 386, 880
BE#RE 2,643,972
T DR 132,386,880 x 53.85% ( 35% =~ (1 — 35% ) ) 71,290, 334
BRI 135,030, 852 + 71,290, 334 206, 321, 186
—REEES 206,321,186 x 53.85% ( 35% = (1 — 35%) ) — 5, 144 111,098, 814
KBS 206,321,186 + 111,098, 814 317, 420, 000
HETREALE 317,420,000 x 10.00% 31,742, 000
EBEREN 317,420,000 + 31,742,000 349, 162, 000




=

Rifiz -/ \v7r—o

1

SHSEENMMABERENELTERIMIES

H .
& BEICQLELGEMEE 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.50 51, 200. 00 25,600
AR (C)
A 1.00 32, 800. 00 32, 800
& Hi YEZEREN - 1.00E 58, 400. 00 58, 400
5:2
2% BERRERMER [1E%)] 2TiEFT 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.70 51, 200. 00 35, 840
HEm (B)
A 6.90 41, 600. 00 287, 040
AR (C)
A 4.70 32, 800. 00 154, 160
& Hi YEZEREDN - 1.00E 477, 040. 00 477,040
5:3
2% BERRERMER [1E#] 3~4T8EFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.90 51, 200. 00 46, 080
HEm (B)
A 8. 60 41, 600. 00 357, 760
AR (C)
A 5.90 32, 800. 00 193, 520
& Hi YEZEREDN - 1.00E 597, 360. 00 597, 360




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

5 :4
2% BERWERMER [1E#] 5~TIfEFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 1.10 51, 200. 00 56, 320
HEm (B)
A 10. 40 41, 600. 00 432, 640
AR (C)
A 7.10 32, 800. 00 232, 880
& Hi YEZEREN - 1.00E 721, 840. 00 721, 840
5:5
£ BERWERMER [Z#] 121fEutL 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 13.80 41, 600. 00 574, 080
AR (C)
A 9.50 32, 800. 00 311, 600
& Hi YEZEREDN - 1.00E 962, 480. 00 962, 480
5 :6
2% BERRERMER [FEM] 2TiEFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0. 60 51, 200. 00 30, 720
HEm (B)
A 5.50 41, 600. 00 228, 800
AR (C)
A 3.80 32, 800. 00 124, 640
& Hi YEZEREDN - 1.00E 384, 160. 00 384, 160




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

=17
&% BERRERMER [$] 3~4TFEFET 1TELY
2 b g - BIRTE By = B 4 ) W = " =
AR (A)
A 0.70 51, 200. 00 35, 840
HEm (B)
A 6.90 41, 600. 00 287, 040
AR (C)
A 4.70 32, 800. 00 154, 160
& Hi YEZEREN - 1.00E 477, 040. 00 477,040
5:8
&% BERRERMER [$M] 5~TIfEET 1TELY
2 b g - BIRTE By = B 4 ) W E " =
AR (A)
A 0.90 51, 200. 00 46, 080
HEm (B)
A 8.30 41, 600. 00 345, 280
AR (C)
A 5.70 32, 800. 00 186, 960
& Hi YEZEREDN - 1.00E 578, 320. 00 578, 320
=:9
&% BMERWERMER [FEL] 12TfEUtL 1TELY
2 b g - BIRTE By = B 4 ) W E " =
AR (A)
A 1.20 51, 200. 00 61, 440
HEm (B)
A 11.00 41, 600. 00 457, 600
AR (C)
A 7. 60 32, 800. 00 249, 280
& Hi YEZEREDN - 1.00E 768, 320. 00 768, 320




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

= :10
£F  BERWERMER [1E#] 3~4T8EFET 1TELY
2 b g - BIRTE By = il 4 ) # " =
AR (A)
A 1.30 51, 200. 00 66, 560
HEm (B)
A 10. 60 41, 600. 00 440, 960
AR (C)
A 3.80 32, 800. 00 124, 640
& Hi YEZEREN - 1.00E 632, 160. 00 632, 160
= 11
&% BERRERMER [$] 3~4TFEFET 1TELY
2 b g - BIRTE By = il 4 ) # " =
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 8.50 41, 600. 00 353, 600
AR (C)
A 3.00 32, 800. 00 98, 400
& Hi YEZEREDN - 1.00E 503, 200. 00 503, 200
5 :12
£F  BERRERMER [E%)] 2TiEFT 1TELY
2 b g - BIRTE By = il 4 ) # " =
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 20.10 41, 600. 00 836, 160
AR (C)
A 1.30 32, 800. 00 42, 640
& Hi YEZEREDN - 1.00E 955, 600. 00 955, 600




REAR-ET/Avr—> SHSEEAM S BB E RS LSRR

= :13
£F  BERWERMER [1E#] 3~4T8EFET 1TELY
2 b g - BIRTE By o = B 4 ) W = " =
AR (A)
A 1.90 51, 200. 00 97, 280
HEm (B)
A 25.10 41, 600. 00 1,044, 160
AR (C)
A 1.60 32, 800. 00 52,480
& Hi YEZEREN - 1.00E 1,193, 920. 00 1,193, 920
5 :14
£F  BERRERMER [1E#] 5~TIfEET 1TELY
2 b g - BIRTE By H = B 4 ) W E " =
AR (A)
A 2.30 51, 200. 00 117,760
HEm (B)
A 30.20 41, 600. 00 1,256, 320
AR (C)
A 2.00 32, 800. 00 65, 600
& Hi YEZEREDN - 1.00E 1, 439, 680. 00 1,439, 680
5 :15
2% BERWERMER [Z#] 8~11IFEET 1TELY
2 b g - BIRTE By H = B 4 ) W E " =
AR (A)
A 2.80 51, 200. 00 143, 360
HEm (B)
A 36. 20 41, 600. 00 1,505, 920
AR (C)
A 2.30 32, 800. 00 75, 440
& Hi YEZEREDN - 1.00E 1,724, 720. 00 1,724,720




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

= :16
£ BERWERMER [Z#] 218EutL 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 3.10 51, 200. 00 158, 720
HEm (B)
A 40. 20 41, 600. 00 1,672,320
AR (C)
A 2.60 32, 800. 00 85, 280
& Hi YEZEREN - 1.00E 1,916, 320. 00 1,916, 320
517
&% BERRERMER [$] 3~4TFEFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 20.10 41, 600. 00 836, 160
AR (C)
A 1.30 32, 800. 00 42, 640
& Hi YEZEREDN - 1.00E 955, 600. 00 955, 600
5 :18
&% BMERWERMER [FEL] 12TfEUtL 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 32.20 41, 600. 00 1,339, 520
AR (C)
A 2.10 32, 800. 00 68, 880
& Hi YEZEREDN - 1.00E 1, 536, 400. 00 1,536, 400




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

= :19
2% BEAN [EE] 2188FT 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.50 51, 200. 00 25,600
HEm (B)
A 1.30 41, 600. 00 54,080
AR (C)
A 2.20 32, 800. 00 72,160
& Hi YEZEREN - 1.00E 151, 840. 00 151, 840
5 :20
2% BEAN [1E#] 3~4IFEFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0. 60 51, 200. 00 30, 720
HEm (B)
A 1.60 41, 600. 00 66, 560
AR (C)
A 2.80 32, 800. 00 91, 840
& Hi YEZEREDN - 1.00E 189, 120. 00 189, 120
= 21
2% BEAN [1E#] b~TIFEFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.80 51, 200. 00 40, 960
HEm (B)
A 2.00 41, 600. 00 83, 200
AR (C)
A 3.30 32, 800. 00 108, 240
& Hi YEZEREDN - 1.00E 232, 400. 00 232, 400




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

5 :22
2% BEAS  [E#E] 12TFELLE 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 2.60 41, 600. 00 108, 160
AR (C)
A 4.40 32, 800. 00 144, 320
& Hi YEZEREN - 1.00E 303, 680. 00 303, 680
5 :23
2% BEAN  [8p] 2x8EFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.40 51, 200. 00 20, 480
HEm (B)
A 1.00 41, 600. 00 41, 600
AR (C)
A 1.80 32, 800. 00 59, 040
& Hi YEZEREDN - 1.00E 121,120.00 121,120
5 :24
&% BEAN  [$EY] 3~4TFEET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.50 51, 200. 00 25, 600
HEm (B)
A 1.30 41, 600. 00 54,080
AR (C)
A 2.20 32, 800. 00 72,160
& Hi YEZEREDN - 1.00E 151, 840. 00 151, 840




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

5 :25
2% BEAN  [8R] 5~TIfEET 1TELY
2 b g - BIRTE By = B 4 ) W = " =
AR (A)
A 0. 60 51, 200. 00 30, 720
HEm (B)
A 1.60 41, 600. 00 66, 560
AR (C)
A 2.60 32, 800. 00 85, 280
& Hi YEZEREN - 1.00E 182, 560. 00 182, 560
5 :26
&% BEAN  [FHEU] 12TFEULE 1TELY
2 b g - BIRTE By = B 4 ) W E " =
AR (A)
A 0.80 51, 200. 00 40, 960
HEm (B)
A 2.10 41, 600. 00 87, 360
AR (C)
A 3.50 32, 800. 00 114, 800
& Hi YEZEREDN - 1.00E 243, 120. 00 243,120
5 :21
2% BEAN [1E#] 3~4IFEFET 1TELY
2 b g - BIRTE By = B 4 ) W E " =
AR (A)
A 0.50 51, 200. 00 25, 600
HEm (B)
A 2.60 41, 600. 00 108, 160
AR (C)
A 0. 60 32, 800. 00 19, 680
& Hi YEZEREDN - 1.00E 153, 440. 00 153, 440




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

5 :28
&% BEAN  [$EY] 3~4TFEET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0. 40 51, 200. 00 20, 480
HEm (B)
A 2.10 41, 600. 00 87, 360
AR (C)
A 0.50 32, 800. 00 16, 400
& Hi YEZEREN - 1.00E 124, 240. 00 124, 240
5 :29
2% BEAN [E£] 2188FT 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.40 51, 200. 00 20, 480
HEm (B)
A 3.50 41, 600. 00 145, 600
AR (C)
A 1.20 32, 800. 00 39, 360
& Hi YEZEREDN - 1.00E 205, 440. 00 205, 440
= :30
2% BEAN [1E#] 3~4IFEFET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.50 51, 200. 00 25, 600
HEm (B)
A 4.40 41, 600. 00 183, 040
AR (C)
A 1.50 32, 800. 00 49, 200
& Hi YEZEREDN - 1.00E 257, 840. 00 257, 840

10




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

= : 31
2% BEAN [1E#] b~TIFEET 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0. 60 51, 200. 00 30, 720
HEm (B)
A 5.30 41, 600. 00 220, 480
AR (C)
A 1.80 32, 800. 00 59, 040
& Hi YEZEREN - 1.00E 310, 240. 00 310, 240
5 :32
2% BEAN  [1Z#] 8~11IiEFT 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.70 51, 200. 00 35, 840
HEm (B)
A 6.30 41, 600. 00 262, 080
AR (C)
A 2.20 32, 800. 00 72,160
& Hi YEZEREDN - 1.00E 370, 080. 00 370, 080
5 :33
2% BEAN  [E#E] 12TELLE 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 0.80 51, 200. 00 40, 960
HEm (B)
A 7.00 41, 600. 00 291, 200
AR (C)
A 2.40 32, 800. 00 78, 720
& Hi YEZEREDN - 1.00E 410, 880. 00 410, 880

11




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

5:34
&% BEAN  [$EY] 3~4TFEET 1TELY
2 b g - BIRTE By = B 4 ) # " =
HEm (A)
A 0.40 51, 200. 00 20, 480
BEm (B)
A 3.50 41, 600. 00 145, 600
Em (C)
A 1.20 32, 800. 00 39, 360
& Hi 1E%HEH :1.00TE 205, 440. 00 205, 440
=5 :35
&% BEAN  [FHEU] 12TFEULE 1TELY
2 b g - BIRTE By = B 4 ) # " =
HEm (A)
A 0. 60 51, 200. 00 30, 720
BEm (B)
A 5.60 41, 600. 00 232,960
Em (C)
A 1.90 32, 800. 00 62, 320
& Hi 1E%HEH :1.00TE 326, 000. 00 326, 000
= : 36
&% {TAEE HEED)
2 b g - BIRTE By = B 4 ) # " =
HEm (A)
A 0.50 51, 200. 00 25, 600
Em (C)
A 0.50 32, 800. 00 16, 400
& i {EZ8ER - 1.00E 42,000. 00 42,000

12




Rifiz -/ \v7r—o

SHSEENMMABERENELTERIMIES

= : 37
£ iR - e BT, DHEE. EBETTE 1LY
£ b L - BIRTiE BAf % = B ® # " =
HEm (A)
A 1.50 51, 200. 00 76, 800
Em (C)
A 3.00 32, 800. 00 98, 400
& Hi 1EZBERN - 1.00 175, 200. 00 175, 200
&5 .38
2% EHARE 1LY
£ b L - IRTiE BAf % = B ® # " =
EHXARE
= 1.00 1,261, 636. 00 1,261, 636
& Hi EZBER - 1.00 1,261, 636. 00 1,261, 636
&5 :39
£ XBRERE 1LY
£ b L - BIRTiE BAf % = B ® # " =
EBEHRMAE
= 1.00 300, 000. 00 300, 000
& Hi 1E%HeH - 1.00K 300, 000. 00 300, 000
&S 40
B RE 17ty
£ b L - BIRTiE BAf % = B ® # " =
WREXEE
= 1.00 1,082, 336. 00 1,082, 336
& Hi 1E%HeH - 1.00K 1,082, 336. 00 1,082, 336

13




